ECE 270 Introduction to Digital System Design Spring 2019

Lab Quiz 8

The following circuit applies to the questions on this quiz. Complete the next state equations,
present state — next state table, and state transition diagram to determine the answers.

\‘: / ,-'3 /! 1 l‘ j
X>I¢ _ /A __(, {;”/} j} = f‘l & ?.«

s RV —
Y = ( /‘)c /\ ) —_—

1. The nexts&tee‘g%ationforXis: S
&LA X*=A"-Y

(B) XF=A"+Y

(C) X*=A"+B+X
(D) X*=A’-(B+X)
(E) none of the above

2. The next state equation for Y is:
(A)L Y*=B"-X"
\gB) Y =B'+ X’ /"
(© Y- =B +A+Y
(D) Y*=B'-(A+Y)
(E) none of the above
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The following state cannot occur:
(A) X=0,Y=0

(B) X=0, Y=1

(C) X=1,Y=0

(D) X=1,Y=1

((E) ) _none o of the abové\ CARS
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4. Based on the state transition diagram, if this feedback sequential circuit is initialized to state X=0,
Y=0 and combination A=0, B=0 is (continuously) applied to its inputs, the (steady state) output
combination will be:

(A) _X=0, Y=0

“(B)_X=0,Y=1)
%) X=1, Y=0_

(D) X=1, Y=1
(E) unpredictable

5. Based on the state transition diagram, if this feedback sequential circuit is initialized to state X=0,
Y=0 and combination A=0, B=1 is (continuously) applied to its inputs, the outputs will:
(A) be unpredictable
(B) stay at X=0, Y=0
(C) changetoX=1,Y=1

‘(D) “oscillate” between X=0, Y—O and X=1, Y=1_>
(EY— none of the above
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